ERRAROBSIFHRT — 2 N—ZBISY—F 20135E8A 148 (k) 10EEMH4E

B1 #5%3m®L (xwlw | lmEmml - |5 5) wom 8
[A&4£] 1 7 :600,000 3 ~ 23#&:120,000  ~ 33#&:60,000H ~ 43#&:36,0008” . 53&:24,000 ™
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
R AR .09, g . — FHEZE (A
i NEECS L OPr 4 9 ot 1(2_9)9 5-5-4-3 | 38.5 1 ;1_765) faa%%
L4 77a— BiA—=FINTIF ke
o = JNEE— :30. —0—{— . = tE¥v (BA
olglg| FF2xF2—% i 4 IS 1(350)8 2-2-1-1 | 39.6 4 (4_633) e
LHIINTF— BETIAH-I =Eictae
SRy st o4 | FREM® 1:31.0 1-1-3-4 | 39.8| — 6 464 | BE—F (FEH)
317|7 /‘\”/7)|/7k_.L\ 56.0 (11/2) (-3) BREF
A hk—L By I bL—2 RaIER  SRTHE
. — e TERE ] 30— _ BAEE (EH)
alglg|¥no51v2s H 7 e 1(/731[:3) 3-3-2-2 | 39.6 2 (4_914) —Ekls
AR v g4 —7 BE Y- 71— TSI
- sy > 8 | KEKEB 1:31.4 3-4-5-5 [40.0| — 7 441 | FEEEER (EB)
EE 2 ZATFY - 56.0 (2 1/2) +2) gL
L:¥xrinMO— B:aAYIAXRTKLF NSRS
7 = 6 | tREFR 1:31. -7-7- A 475 | FERE (EM)
6/5|5 7|:|—U—ZT‘77° i 54.0 (735‘)5 & 6% ° (+35) ?fz//:?kz:
AR w4 =9 BFdy RR—%— BB T7—L
+> 8 | tHEHEL 1:31.6 6-6-9-7 [39.7| — 8 463 | FEAE (FEk)
7 3 A1) ke L =~ 56.0 (1/2) (-4) H_EHE
L:ZXJrT A =T —K=F B:IVHTFRT1=— B2 %Y K
- s - PritED : -9-6- — REME (T
gl1l1|=TRL -0 4 5 gl 1(.13/12.)7 9-9-6-8 | 39.8 9 :?23; ﬁEEﬁA
R:A—YX4> x4 B:IURT1%vy b & —B
R 44 | HIEE 1:32.0 6-7-8-9 |40.1| — 3 487 | BAESE (BER)
EH 6 I-2KR7 MV 56.0 (1 3/4) (45) 50,;#3@}%
R:E>Ta1— £:Solaia Denford Stud and
® I—F—@EBIERL
|S=7r= 7,9,(2,8),4,(3,6),5,1
20—4+— |[7,9,8,2,4,3,(5,6),1
T =35r= 9,8,7,4,2,1,5,6,3
41—F— 9,8,4,7,2,5,3,1,6
[ RN
B 4 230M 794K 4-9 270M & 4-8 210 &R 4-7-9 2,340
7 B 4 110 4-7 520 | | B E 4-9 570 | | EE 4-9-7 7,590M
9 140 7-9 1,080H B H 4-9 840M
7 290

ABICOVWTRDTEEERROODE. TR LIV,




